thS 29 2o FPAAF ABCD of Al
HAD, ¥ BCO $HS 22t HE, F o
& o, oAFCE £ | A4 91712
@=arad o oem
® ANz @ AA7H

® Atz

AE =FC ©]1 AE//FC 0|22
A2 AFCE £ B3ApAg olTh,




Th2-2 ubER ABCD ©|tt. AO = BO ©] A
1, /A =90° ¢ 1, 0ABCD = oJH A}zf
Fo] 57k

B )
O A& @ SHAEE
SR LE B @) BRE
¢
® BAANHY

-

uhg R A % of2h
HAZko] Het.

o

)7k 23, Yzte] 27171 90° ol @




ot
D

2 o

a

He AAZH ABCD ©] H B7HH A
L E e Floltt, BF 9 Zol=?

A____E

/1

61 ‘
\“L ______
Breeopgb--7C

@ 12 ® 14 @ 16 ® 18




@ 9714 ® 12714

® 2474

@ 8714

@)18711

- 6x3=18(7HA)




o
=]

=

5.

21416 8




=
=

ol %o 50cm & UERE T 24 Ato] 2 A]

1
® 508

Z o]
100000
75km 2 AFS EFA 7P 3 ol A=l
@ 458

Mg

=
=

(AA2]A 2]) = 50 x 100000
= 5000000 ( cm)
= 50 (km)

50
o == =40 (&
-5 X 60 0 (=)




@ a2 -b>=x2-y? O axy=xxb

© a-c+b=x-y @ a®+y*=x*+b?

260 @06 00e ®oe O66e

B

& Heriets Aajo] whet o2 = b2 + ¢, 2 = a? - b? o]
2=c2 492, 2 =x2—y2 0|0 g2 - p2 = 42 — 2 O]},

®

GNA 2 = b2 = 2 y2 oA O|&IH a? +y2 = 52 + b2 O},
ety 22 AL @.@clt.




8. Al We] Ho|7} 6cm, acm, (a + 2)em Q1 AHZF 0] £Z2H2Ead o] H7|
15t a9 3ol WR=2(H,a > 6)

@a>8 @ a>5 ® a>6 @ a>7 ® a>4

(a+2)? > a* + 62
a®+4a+4>a®>+36
4a>32 ..a>8




A2V T T o] 5 Lol Tl 7HA] Alg B ALg
sto] MWL stel 3 Gk of W, MU sHe BE WPo] S o
A Q1717

L
YN

® 5714 @ 127H4 ® 2474
@ 607HA] @1207}11

5x4x3x2x1=120(7}A])




10.

U S 39, Zup 29, vix)7F 19 Q5 YT o] %2 Z ol
AelaliA Ao g off, S22 S17]e], Xnk= Z|np7]E] o] 2ot &
Ae

W
D 12717 @ 24717 G271
@ 120714 ® 24074

HAZ2 AR7N2, Aotz A7) StUHR Fol 7t S A4,
M2 A2E HHE 4 9lo B Falh 90 Sk (3x2x 1)
(3x2x1)x(2x1)="T72(7FA)




11. o2 134 AC//DE, BC: CE = 2: 1°]1, AABC = 24cm? ¥
o, ABCD 9] Yo]=?

@ 30cm? @)36cm? ® 40cm?

@ 48cm?2 ® 50cm?

AABC = 24cm?°]1. BC : CE = 2 : 1°9]E 2 AACE = 24 X
1

5 = 12(cm2)

AACD = AACE (- AC//DE, AC = 3%)

. OABCD = AABC + AACD = AABC + AACE
=24 + 12 = 36(cm?)




12, o3 293} Zo] /BAD = /CAD = 45° € off, AABD 9] Ho]=?

O 80cm? @ 90cm? ® 40cm?
75
C@)45cm2 ® ?cm2

~&B ~

_ 1
AABC = 7ol B2 AABC = 15 x 10 X 5= 75(cm?)

o},
AB:AC=BD:DC=3:20EB&
AABD : AADC =3:2

. AABD = gAABC = g X 75 = 45( cm?)




13. 18H 207129 A5 F shtE Bol 4 2
g gE2?
1 4 1
@; @ : ® @

a:1,2 4,8 16°|22 5717
_ _ 5 1
sl=38ls ¢ — — —

?‘o}\_ = = 20 4




14. t}& HAHSE ABCD 9 Wol& 160 cm?

A D
o]11 BCo #HSP,AQ : QP=3:2¢
o, oQPCO 9] Ho]=?
@® 22em? @ 24cm? @ 26cm? ‘\
B —C

@28 cm? ® 30cm?

B ~

AAPC = —AABC

x JABCD

X 160

1

5 x 40 = 20( cm?)

m : @: 3:20|282

AQPO = %AAPO = % x 20 = 8(cm?)

- OQPCO = aAPCO + 2QPO
=20 + 8 = 28(cm?)




15. o2 2383 Zo] /A =90° ¢l AABC oA A M o] €44 uj, DH
o] Zol=?

02 @2 o7 @oF 07

AADB ¢} ACDA = §-8olmg AD” — 8 x 2 — 16 ©|th.
watA] AD = 4 o]t}

A M o] ]Ao]|BEE AM = 5, MD = 3 o|t},
AAMDQJ5}01—5—%x_Dx_D=%x3x4:6011:}

6:%x5xﬁﬁ,;D _




